N = 0 &8 AFH Y & A AN
20229 &= 20| St AN EESAH HAH
SA: BISTAIA
M s Kl RE(BY/NGET - 4T
Sl BIIHAEH (G T ARSI N) (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ol AN A 18,456,915 22,376,473 AN 3,919,558
=2 4,163,000
Al 14,293,915
st slxeldlet (s / Mot E - =2 15,693,325 19,648,269 N 3,954,944
= 4,163,000
Al 11,530,325
2 GLHASH (SIS AIE SEE S H) 227,426 210,934 16,492
318 29 &bl 96,340 57,670 38,670
101 @121l 42,740 0 42,740
04 J|2tH 22 NHEE 42,740 0 42,740
Odt=xeld sy 23 o2 42,740
o=0 82,350& * 184Y 15,153
oRESrdrY 82,350 * 492 4,036
oseIREY 82,350& * 150% * 88Y 10,871
o= At 60,000& = 9 540
o uwEH| 30,000& = 9& 270
o XRSEIIE 78,830 * 26 2,050
o EIXZ(tHMe =)
97,187 . 17& = 30 * 8022 /365 6,407
om0z EE= 30,870,000& * 4.5% 1,390
odABEHEHZ 30,870,000& * 3.495% 1,079
oI RABEEEZ  1,079,000& * 11.52% 125
0LNEBEEREE= 30,870,000& * 1.65% 510
oXHEEZ 30,870,000& * 1% 309
201 L2 | 12,600 12,620 A20
01 At 2t 2l Yl 600 620 AN 20
OFJAZE 1=t 600
0EFE=S 150, 000& 150
oot= 150, 000& 150
= 200,000& 200
o &3t 100, 000& 100
02 3524l 12,000 12,000 0
oas8xY RAL4 3,000,000& * 4CH 12,000
202 04| 1,000 3,000 A 2,000
01 2LHHI 1,000 3,000 A 2,000
O3J]1gadg & Xotx=2238 22 2ol
1,000,000& 1,000
207 S T OH | 30,000 24,000 6,000
01 A9yl 30,000 24,000 6,000
0O2021d SJ1g Z2AZBAIEY 15,000,000& 15,000




SA: BISTAIA
Ha: A GRH2IIE DE(BY/YGEE - 2F)
©@el: SIGUAS (=S AIESE3A) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Q20228 St=EZRANRES |IME S
15,000,000& 15,000
308 XX EHSOIA 10,000 8,950 1,050
113/ 2S0HUHSBHEAEALS I 10,000 8,950 1,050
0371 HiaMs A T2l FANE4H
10,000, 000& 10,000
Aot 2tel 22,930 20,480 2,450
201 Let249] 13,580 11,480 2,100
01 At 22l 1,780 1,280 500
OXdt=2= 1AM M=  80,000& = 102fA 800
OXdt=23 XAS0lH X2 E0I ==2
40,000& = 123 480
oul=l 500
o ot& 3t 50,000& = 23l 100
oMYSE 200,000& * 23 400
02 2324gHl 11,800 10,200 1,600
osugsz 350,000& = 12& 4,200
OXldots el T8 A E=H
1,900,000 * 43| 7,600
202 O4dl 350 0 350
01 = LH 4 Hi 350 0 350
O &XAS LAY 350,000& 350
401 A& HIZ 201 8] 9,000 9,000 0
01 A& HI 9,000 9,000 0
OXlot= &XZ F&=-H 900,000& * 10 9,000
SHYRXNA(Gt=%) 27,840 27,840 0
204 MR FH| 27,840 27,840 0
03 EF A 27,840 27,840 0
O s (#ad%) 50,000& = 12& 600
OSHYRL+AHE S| 21,240
03I SASRE
80,000& * 2494 x 12& 23,040
OOl B Y BT
80,000& = 3% = 12& 2,880
0R=2UE EEZERE 80,000& = 12& 960
03I LdBAH(HAAE) 30,000& * 123 360
St=HMeld HAr2el 80,316 104,944 A 24,628
101 @124 dl 19,916 17,144 2,772
04 DIt Z2XREES 19,916 17,144 2,772
Odt=HMeld S#IFHI(ZA) =2 19,916
o=N 82,350& 166 13,671




SN GHEE MY
FM: 295 staHeldlg 2 (sZ /46t - =8
Eel: SIS (St AL SE3A) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oRsSsesY 82,350& » 43« 3,542
o =24l 60,0002 * 8& 480
o=l 30,000& * 8& 240
o=UAIEHS 17,933,000& * 4.5% 807
oAAEERES 17,933,000& * 3.495% 627
oPIRABEEES 627,000& * 11.52% 73
oNEBEERES 17,933,000& * 1.65% 296
oMMERE 17,933,000& * 1% 180
201 et 60,400 87,800 A 27,400
01 AP 2teltl 10,400 10,400 0
OAAE 22 =8 4,000,000& 4,000
Odt=HMeld A= 400,000& * 63l 2,400
Odt=HMeld s3I (FEeEL)
2,000,000 = 23l 4,000
02 2324l 50,000 77,400 A 27,400
OFEAL RXE=H 40,000,000& 40,000
OME3&d |AE=H 10,000, 000& 10,000
Staxel s (ot ArE SE 3 H) 8,863,815 6,794,181 2,069,634
= 3,314,000
Al 5,549,815
Exot=HMelE St==NMNI| 2 &AL 2,380,000 1,103,000 1,277,000
= 1,666,000
Al 714,000
401 A& HIZ 2018 2,380,000 1,103,000 1,277,000
= 1,666,000
Al 714,000
01 A& HI 2,380,000 1,103,000 1,277,000
O&Zxot=HMelE dt=RMNIl ZEA
2,380,000, 000& 2,380,000
= 1,666,000
Al 714,000
- 2FEZEH 2Y 292,080 142,880 149,200
201 Yet2 2t 139,440 120,240 19,200
01 At 2t 2l 7,440 7,440 0
Ok =8I MI|tMd2e W2
120,000& * 128 1,440
OFSE RRI:EHIDE IR RS
6,000,000& 6,000
02 =224l 132,000 112,800 19,200
OLsHf ti="IZZ CCTV ¥ E3H AEB=
100,000& » 128 1,200
OLs ti=EBZZ AIZ&EH =Xl
10,000, 000& 10,000
OSLa=EHIZZ ALZH |XHl 20,000,000& 20,000




SA: BISTAIA
MM 2AE Gt RE(BH/MOIEE - =8
e olExel JIsdsH (ot AIEEEa H) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OL4HITX RAAUAANAYE SAE 44|
1,600,000 * 12& 19,200
ORLLEZE MIRR2 5,500,000 = 12& 66,000
ORxHINY JMEFH AIEBE
1,300,000 * 12& 15,600
206 M = dl 2,640 2,640 0
01 X2 bl 2,640 2,640 0
ORe"HIXE JIH,EI|,HE 222
220,000 ~ 12€ 2,640
401 AlEHIZL 2 0HY| 150,000 20,000 130,000
01 Al&H| 150,000 20,000 130,000
SOAHIE BT
25,000,000& * 6IH 2 150,000
SHEHZAE 29 921,400 809,000 112,400
201 LBt ]| 589,200 628,200 A 39,000
01 AP 22| H| 25,400 24,400 1,000
O201&dH =42 100,000 = 3 A = 12€ 3,600
OFI|otE e a2
1,400,000&  12& 16,800
ON2zAHEBEZ A MI|EH HIIZA =52
1,500,000 1,500
OMNIZTAHEZE 2KMMA HEZ 3,500,000 3,500
02 2224 H| 563,800 A 40,000
OFSAHEZH JIdEHT S X E 44|
15,000,000& = 4CH 60,000
OFAHEZH H2 RAEH|
3,000,000 * 400 A 12,000
OZTHEZE Adl=E=R22 150,000 = 12& 1,800
OFTHEZH KX 2 H|
10,000,000 * 40 A 40,000
OFTHEIZIH MIIR2
50,000,0008 = 12&€ = 75% 450,000
206 M = dl 16,200 10,800 5,400
01 X2 bl 16,200 10,800 5,400
OZTHEZZE JIAH, 8|, HE A2
1,350,000 * 12& 16,200
401 AlEHIZL £ 0HY| 316,000 170,000 146,000
01 Al&H| 316,000 170,000 146,000
OZAHEITA JISEZT Nse=EX WA
6,000,000 = 64 36,000
OTHEZH JIdEHZT MUl S A 60,000,000 60,000
OZTHEIZH FEANE =4 200,000& * 200 40,000
Oz HEIZZE U2 Wi
50,000,000& * 302 150,000




2N
X ZH -
L= B

el

o
0y
=
QJ
1

—
1
A

SA - BAEN) - NRAY - LS 0l &F 24 il HRE2
ONBEHNEZE Az id+2 WA
30,000, 000! 30,000
EHEIE si4LSB2 LAY 1,834,000 1,000,000 834,000
2 1,648,000
Al 186,000
401 Al HI L 2 I 1,834,000 1,000,000 834,000
2 1,648,000
Al 186,000
01 Al&H 1,834,000 914,800 919,200
OZNBOE G4+ AT 2UAY
1,834,000,0008! 1,834,000
2 1,648,000
Al 186,000
Sty 29 3,436,335 3,739,301 /302,966
101 2124 Hl 27,538 26,386 1,152
YSIENTEESETRS 27,538 26,386 1,152
OSt+HMelZ, SHEDY 2JJY L AES
o oy 27,538
0304 82,3508 * 2% * 1202 19,764
oR3RYL 82,3508 * 2% * 242 3,953
o SAHI 3,000 * 2% * 120 720
o RS 1,50080 « 28 » 1202 360
SELICEESE 24,797,0008 * 4.5% 1,116
oAYBEREZ  24,797,0008 * 3.495% 867
0FIATFHTLLS  867,0008 * 11.52% 100
oNEBRERES 24,797,000 * 1.65% 410
CUTEEE 24,797,0008 * 1% 248
201 L2 | 2,436,628 2,334,635 101,993
01 AL 2H2l 1,464,088 1,380,095 83,993
O AU BAS+4E
200,000 * 20 400
Oz2AX 22N +28 1,000,0008 1,000
OFII £ JIH QHHB2IN ASLDSH
95,0008 * 2% 43| 760
OHRY Hel++2 1,1008 * 1,0002 Ef 1,100
OZII8 $2J| RN HH++E
750,0008 * 12 9,000
Om = 1,500
0 ot 5 50,0008 * 23] * 3% 300
oxg= 200,0008 * 23| * 3% 1,200
Odt+2i Xl fgtHel 248
132,0008 * 29E * 3652 1,397,220
OBt+XHEIE SHAHSE =5 HUSY

880,000& * 43

3,520




SA: BISTAIA
M S GH2IIY RE(BY/NEHEE - 2F)
¢l otx=Hel JIsZa (st AIEEE 3 AH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Odt=HMeld AMEZFHE ZH Y=
500,000& = 83l 4,000
Odt=Held dojetdze| Hed==2
874,000& = 12& 10,488
Ost+He2l® BN BHE Hel+2a
117,000& » 150& 17,550
Oft+Hel® BANS =4 Hel+2a
117,000& » 150& 17,550
02 =224l 972,540 954,540 18,000
OEgel K2t 15,000,000 * 2CH 30,000
OWII| CATEH Y R E=H
12,000,000 * 43| 48,000
OdE=x) & s=I| |RAE=H
22,000,000& * 2CH 44,000
Odgll=l g3l 100,000& 100
Odt=XelAld |IZAMAIAE X224
1,800,000& * 12& 21,600
Obdt=XMeld HIOIIAAE S &2l
90,000,000& 90,000
Odt=Held =HelAld |FAE=H
60,000,000 60,000
Odt=Held sHXAE FAE=HI
60,000,000& 60,000
Odt=HMeld UHsSHZFI £H RXE=H|
1,000,000& = 12& 12,000
Ost=Helzd IS 50,000,000& * 12& 600,000
OCCTV, &N, dE3H AEE
114,000& » 54 « 128 6,840
202 o4dl 7,550 10,760 N 3,210
01 = LH o4 1l 7,550 10,760 A 3,210
OZH & ot=dXHMcl ALEH 5,000,000& 5,000
Obdt=xel2a 3oa&s & A2
1,500,000 1,500
O &XAS LAY 350,000& » 3H 1,050
206 M= Hl 401,679 437,580 A 35,901
01 =8l 401,679 437,580 A 35,901
OODtIl (0Bl Z) 110,000& * 2000H 22,000
ZI8 S28I(2Y2H, PLCILE) A2E
500,000& * 123 6,000
Odt=selXl 8 &
3,100& = 266kg * 365 300,979
Oot=H™eld J1H, #I|, HESEH 223
2,100,000 * 12& 25,200
OSt+H2IE L DISF AHMINES 22%4E
6,000& = 50 =« 100 3,000
Odt=Hel& MHolEXel %43 2,500,000& 2,500




SA: BISTAIA
Ha: A GRH2IIE DE(BY/YGEE - 2F)
¢l otx=Hel JIsZa (st AIEEE 3 AH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ogst+=a HMAE 2438l 3,500,000& = 128 42,000
301 LA S 2,940 2,940 0
12 JIEE4 3 2,940 2,940 0
Odt=Xeld AdFHMHE 2 Al 234l
70,000& = 78 « 63l 2,940
308 XXM SOIA 200,000 200,000 0
12 JIEtRE3 200,000 200,000 0
OMBZHIIES M2 RE= 200,000, 000& 200,000
401 AIEHIZ 28I 360,000 727,000 A 367,000
01 A& Hl 360,000 727,000 A 367,000
Odt=HMelZd MEES X AJ|I&H M3 A
60,000,000& = 3X 180,000
Odot=xeld XA ct=SLd = &l
S A 130,000, 000& 130,000
Ost=Held A= &4  200,000& * 250& 50,000
St Ald HUl (ot AFS S E 3 H) 5,242,370 11,009, 962 AB, 767,592
= 849,000
Al 4,393,370
ExX L Sot=22 ALY 986,000 129,462 856,538
= 693,000
Al 293,000
401 Al HI K 201 I 986,000 129,462 856,538
= 693,000
Al 293,000
01 A& HI 986,000 129,462 856,538
Ofx Sot=22 FHALY  986,000,000& 986,000
= 693,000
Al 293,000
XA St &bEl JI2HE 29 411,540 800,000 A 388,460
207 A RO 411,540 800,000 A 388,460
01 289 411,540 800,000 A\ 388,460
OZxAl St=E&8H JI2H8 89
411,540,000& 411,540
ot RAE=+ 1,668,980 995,800 673,180
201 Let24E] 52,980 76,000 A 23,020
01 At 22l 22,780 39,820 A 17,040
OZ2FaAr Fatx HMeltl
21.33 = 3000t= = 2& = 1,0004 12,780
Odt=Z A8 22X AIEZ 10,000, 000& 10,000
02 232gHl 30,200 36,180 25,980
OR=E4 MOHAAE MH AE2
400,000& = 12& 4,800




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O2L+E4A HOUHAAEY S E2H|
20,000,000 20,000
O2L+E4A MHAAY HIR2
300,0008 = 12& 3,600
O2L+E4A MAHAAY SARS
150,000 * 12& 1,800
202 o4 | 1,000 4,800 A 3,800
01 2L I 1,000 4,800 A 3,800
Odtx=&2 MES NEEHY
10,000& = 10 = 10& 1,000
305 HHA2S 15,000 15,000 0
01 A Z2S 15,000 15,000 0
OtHia2 s 15,000,000 15,000
401 AlEHIZL £ 0HY| 1,600,000 900,000 700,000
01 Al&EH| 1,600,000 900,000 700,000
O2tH BH=&dl HYlZAt 200,000,000& 200,000
OMSX ot== 0l&H| 100,000,000 100,000
OdtE=&2 B2 A 800,000,000 800,000
Oodta=E=H2A2|XE AANEH 249
500,000,000 500,000
St4E9o AXx 2 22| (ot Y| ) (424222 734,000 5,332,700 A 4,598,700
AE2Z2)
401 AIEHIZL 2 0HY| 734,000 5,332,700 AN 4,598,700
01 A& H| 734,000 4,732,249 N 3,998,249
O&=z222 MNHE22 HEIZAF 734,000,000 734,000
ol#=E9o AX L el (ot4=2ANEH)(HS=s AIZOt 223,000 569,000 A\ 346,000
S oIS EHIALY)
= 156,000
Al 67,000
401 Al HI L 204 HI 223,000 569,000 A 346,000
= 156,000
Al 67,000
01 Al&H| 223,000 569,000 A 346,000
OF5ss MEDIS ol 2 U AMY
223,000,000& 223,000
= 156,000
Al 67,000
ol =4 1,218,850 1,004,000 214,850
201 et d| 218,500 204,000 14,500
01 AFR 2t 2| bl 218,500 204,000 14,500
Obotx=E =&8&E Helx=4+2
109,000& = 2,000 218,000
(@E==1s] 500




e
0y
=

— o
1
i
1
A

A+ B2 e (BA) - HRAY - BYS 0l &k o4 il Hl DS 2
o o+M 3} 50,000& * 23] 100
oXg= 200,000& = 23| 400
202 Oddl 350 0 350
01 = LH 4 Hi 350 0 350
O&&XAS =LHAHI 350,000& 350
401 Al HIZ 201 8] 1,000,000 800,000 200,000
01 A& HI 1,000,000 800,000 200,000
Oot=2tz2 &4 500,000,000& 500,000
Oodt==B0X =4 500,000,000& 500,000
2 GAMel2el 23 (ot ML ESSIH) 1,359,714 1,633,192 N273,478
EXcE 28 282,920 87,432 195,488
201 ¢er24| 144,570 75,432 69,138
01 At22t2l bl 12,570 3,432 9,138
OsLHaT BEES Hals+42
117,000& » 5& = 128 7,020
ol gx= 21,900& » 123 263
OF==Jl gX& 45,9003 = 128 551
OZgH gxz 55,000& * 123 660
OSA2 ¥ 2oyald MG HE+s
= 298,000& * 123 3,576
Oul=l 500
o o+M 5} 50,000& = 23| 100
oXY=E 200,000& * 23 400
02 3224l 132,000 72,000 60,000
oM ANSFH RS2
1,000,000& = 3% * 102 30,000
O=HMeld dIIe=2 8,500,000& * 123 102,000
202 Oddl 350 0 350
01 SLHOYI 350 0 350
O&&XAS =LHNHI 350,000& 350
206 M= Hl 78,000 12,000 66,000
01 MHZ 8l 78,000 12,000 66,000
O2:Hd 225 ¢ 400,000& = 155 6,000
Os=H2% S8 2 £HABIL
9,000,000& =+ 8& 72,000
401 AIEHI L 201 60,000 0 60,000
01 A& HI 60,000 0 60,000
O=z=xXeld &4 100,000& * 600= 60,000
2AE 23t 397,800 344,500 53,300
201 ¢4l 186,000 163,100 22,900




SA: BISTAIA
Ha: AHS GRH2IIE DE(BY/YGEE - 2F)
¢elr =& 2 AAMel2el 2 (ot AL SESAH) (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 At 22l 63,600 43,600 20,000
OMEI=YHE 28 =2 800,000& * 123l 9,600
Ox&EZAFEF) WE =8 10,000, 000& 10,000
OftaHelT YRAO L2BAN 242
22,000,000& = 23| 44,000
02 3323l 122,400 119,500 2,900
Ox=ZIAZAIHA(IMS) 22+ S
4,700,000& = 12& 56,400
OMEA 2T2HIII| B2l
600,000& * 108 6,000
OBt4+H2TH %43 SYANL L ASEH R
PNE=E o] 30,000,000& 30,000
O =ZAEHH X E=HI(MSS2 6&)
10,000,000& * 3JH £ 30,000
202 O4dl 4,800 4,800 0
01 SLHAYI 4,800 4,800 0
OZHBZE S =2 A IUOHLI
20,0003 = 4% = 5 « 123 4,800
206 M= Hl 80,000 68,000 12,000
01 =8l 80,000 68,000 12,000
O20lAa=sAd FELYAE 3,000,0008 = 103l 30,000
OS82 XMUY= 5,000,000& = 103l 50,000
207 A RO & H| 52,000 25,600 26,400
01 H2ESHI 20,000 0 20,000
O2R*E4A SI+=2LIHYE ZTANEHA
20,000,000& 20,000
03 Al & 12HI 32,000 25,600 6,400
Odt=xel 488 Al 2 =XII+
400,000& = 80& 32,000
308 XtXIEHHSOIA 20,000 20,000 0
12JIEtRE3 20,000 20,000 0
OgF=& JIEXx=Y RES
5,000,000 = 43| 20,000
401 A& BIZ 201 8I 55,000 50,000 5,000
01 A& HI 55,000 50,000 5,000
OXeld A=sAd ZHl S A 35,000,000& 35,000
Odt=Held 20lA=AIE U SA
20,000,000& 20,000
SAEXE 29 678,994 580,260 98,734
101 @14 dl 34,034 0 34,034
M4 IR Z22NSES 34,034 0 34,034
O34dSX2E 2EX& 220 =20 34,034




SN ST AY A
Ha: AHS GRH2IIE DE(BY/YGEE - 2F)
el 2E oMl YB(GHETARSH ) (ol @)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
o=20 82,350 * 247 20,341
oR=§dsY 82,350& * 64 5,271
o HHZAY| 60,000& = 12&€ 720
onsESE x| 30,0008 = 12&€ 360
oA RRAY
82,350 /8AI2F = 4AI2F * 150% * 64 3,953
o=odAZa2EgZ 30,645,000& * 4.5% 1,380
odUABEEHZ 30,645,000 * 3.495% 1,072
OMIRAYEBEHELZ  1,072,0008 * 11.52% 124
oNEEEEHYZS 30,645,000 * 1.65% 506
oMMEE = 30,645,000 * 1% 307
201 B9 541,960 486,260 55,700
01 AP 22| H| 297,960 242,260 55,700
OH EHINZAH =42 2,500,000& 2,500
OSASHY BEE Hel442
117,000 = 204.558& * 12& 287,200
OSAMEX & otMER
80,000 x 3¥H x 43| 960
OSAMEXeE EIBAM =& 2,500,000& 2,500
OsMEHUF 7 YH 89
200,000 * 2004 + 12& 4,800
22294 244 000 244,000 0
OSAZEX2E s501 € €| SAESH|
20,000,000 20,000
OSAEXNelE ALEEH SAE4H
2,000,000 = 7 = 63 84,000
OSAZEXNEHE 0I8sHIT SAE4H|
5,000,000& = 4= 20,000
OSAZEXNeld WMI| KX EH
30,000,000 = 404 120,000
206 M = dl 63,000 54,000 9,000
01 =4l 63,000 54,000 9,000
OSASXNeE AdFMAHAE EFAH
5,000& * 304 = 300 45,000
OSAEXNeHE 2 S AZ2E
600,000& * 15 * 23| 18,000
401 Al HI L 204 HI 40,000 40,000 0
01 Al&H| 40,000 40,000 0
OSAMEXE =4 100,000 * 400 40,000
S Hl (St AP A) (DI EH/ DI EH) 2,520,430 2,492,724 27,706
HA2HH| (SIS AL ESE S H) 2,346,990 2,326,384 20,606
S 2dH| 1,995,158 1,973,032 22,126
101 e1214| 1,492,615 1,472,134 20,481




SN BT AYA
M HHE2H AU (St A A ) (JIEH/DIIE)
Sl ol 2oyl (514 T AL =23 ) CERED
SH-HH . BAIH) - ABAMY - BES 0 aF il HRE2
01 2= 1,436,133 1,418,883 17,250
o= 83,551
oa¥ 83,550,550& 83,551
o=s 891,408
06= 4,398,000& » 79 = 128 369,432
oya= 3,104,000& * 11 * 123 409,728
082 1,930,000& = 3H » 12& 69,480
092 1,782,000& * 2% * 123 42,768
o824 891,548,000& /12& * 90% 66,867
Ooxzuz2=e+¢ 107,589
062 12,294 = 798 * 35A12+ « 128 36,145
o7= 11,1063 = 11 = 35A12t « 128 51,310
082 9,970 + 3F = 35AI2t + 128 12,563
092 9,012 = 28 » 35AI12F » 128 7,571
OJI&EE 17,520
o i < Xt 40,000& = 14% = 128 6,720
o JIEt 20,000& = 20 = 12& 4,800
o=MAYH 60,0008 = 5% = 12& 3,600
o AT XA 100,000& = 29 = 128 2,400
OZFZ+E itz 26,880
0253 0l &f 130,000& = 109 = 128 15,600
0208014 ~ 2508t
110,000& » 49 = 128 5,280
o5& 0l& ~ 104 01
50,000& = 10 = 128 6,000
ouszRLY 10,437
052 4,398,000& * 2% « 128 » 4.1% 4,328
06= 3,104,1002 = 494 » 128 » 4.1% 6,109
Ooflgz2e+¢ 50,000& = 17 = 128 10,200
OS+eR+z(0lsyR4Y) 2,160
o==d&H AMI|etM el g E At
30,000& = 2% = 128 720
o MIIAFH A M el g & At
30,000 = 2% = 12& 720
o Jt&t3 30,0004 = 28 » 123 720
OFf=E=, 220,000& = 249 = 128 63,360
O A A 130,000& » 24%H » 128 37,440
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SN BAETAYA
M HHE2H AU (St A A ) (JIEH/DIIE)
Eel: D23 (St=ZAIS S E3IAH) (Sl & &)
SN FH-SA(EN) - MBAY - BES 0l &k o4 il Hl D&
201 ¢er24| 168,240 150, 140 8,100
01 At 22l 135,740 127,640 8,100
o=l 15,000, 000& 15,000
Osgll gxz 250,000& = 123 3,000
ORN2Y AR 22l 18,000, 000& 18,000
ol git= 250,000& = 12& 3,000
O=gelX 73N 5,000,000 5,000
O=2t| 60,0008 = 3% = 365¢ 65,700
Ogetus 2= 300,000& * 4% 1,200
O Al 60,000& = 38 * 118 21,240
O&=J gdxz 60,0003 = 504 » 123 3,600
02 =224l 22,500 22,500 0
ORM2YE 3329l 18,000, 000& 18,000
Ost=4ot=5 &3/l 3,400,000 3,400
Ost=Aetd &3l 100, 000& 100
O HEEESRE MHEES 1,000,000& 1,000
202 O4dl 4,000 5,000 A 1,000
01 = LH 4 Hi 4,000 5,000 A 1,000
ORM2E =UoH 4,000,000 4,000
203 R =&l 9,400 9,400 0
01 JI22g Y= 3,300 3,300 0
OJl22dg =2l 3,300,000 3,300
02 33 H 2= 1,240 1,240 0
O&FA I JRF2H| 40,000& = 31 1,240
04 FN2ELSZ=TH| 4,860 4,860 0
ORAM2Y gRF2HI 405,000& = 128 4,860
204 MR FH| 1,800 1,800 0
01 MR FH 1,800 1,800 0
OZMg R FH| 150,000& * 12& 1,800
Heas (ot Mg (88 /45txE - +F) 243,160 235,480 7,680
UWRAHXE(GH=Z)(St=Z AL SE ) 170,160 146,480 23,680
St AEZ A0 170,160 146,480 23,680
701 JIEtBI HSHES 170,160 146,480 23,680
02 BIILELEIIAHBANES 170,160 146,480 23,680
Odt=EAEZ FxUHeEx==2
4,254,000,000& * 2% * 23| 170,160
BEXNE(RIEZ) (ot AILS S E 3 H) 73,000 89,000 216,000
tedas S gE3 10,000 20,000 A 10,000
802 Btet= DI Et 10,000 20,000 A 10,000
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OdUE T s Btetza 10,000,000 10,000
A2 2 X2 =Z HUIAIY X A& 41,000 43,000 A 2,000
311 X 20| AHak &t 41,000 43,000 A 2,000
01 Al - & - PAEMED 2 XL 20| AHAE 41,000 43,000 A 2,000
OXNYLIN 2 X2 0l A A&t
41,000,000 41,000
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311 Xt 20| KHak &t 22,000 26,000 A 4,000
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